Worksheet – Bearings
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1. Write each of the following compass points as three figure bearings.

a)
SOUTH is 

_ _ _ o
e) SOUTH EAST is    _ _ _ o

b)
WEST is

_ _ _ o
f) NORTH EAST is    _ _ _ o

c)
NORTH WEST is
_ _ _ o
g) NORTH NORTH EAST is










   _ _ _ o

d)
SOUTH WEST is
_ _ _ o
h) NORTH EAST EAST is










  _ _ _ o

2. Write the three figure bearings of B from A for the following.
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b)     N

 c)             N
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                 _ _ _                             _ _ _                              _ _ _

See other page for Q3
3. CAPTAIN’S CHALLENGE

The diagram shows the position of three airports, Heathrow, Manchester and Liverpool.



                                     


    
       160o  Manchester
                     Liverpool        60o                 
                                                                                       
                                                                                              Heathrow

a) If Heathrow’s bearing from Manchester is 160o, what is Manchester’s bearing from Heathrow?

b) If Liverpool’s bearing from Manchester is 244o, what is Heathrow’s bearing from Liverpool?
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